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Chap 2
Ex 2.1, Page 16
1.% fx Multreg #% ;%
2. read ex\ex 2.1 — 1T YRR - 0k
3. spool
4. list
5.plot1vs2 [x yhc v Bl > 4§ P& 2k # p.18 figure2.3]
6. regr 1 on 2
7. anova brief [ANOVA % ]
8. plot resi vs pred
9. plot stud vs rank [stud : B 2% X (r;) > ¥ A~ F B FE ]

10. end — TR RE R ek

Ex 2.2, Page 27
1. read ex\ex2.2
2.plot2vs 1
3.regr2on 1
4. anova brief
5. plot resi vs pred
6. plot stud vs rank

Ex 2.5, Page 35
1. read ex\ex2.5
2.plot2vs1
3.regr2on* 1

4. anova brief



Chap 3
Ex 3.1, Page 93

l.
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read ex\ex3.1

. tran 5 = power 2 2
. tran 6 = power 3 2
. tran 7 = power 4 2
.tran 8 = prod 2 3
.tran 9 =prod 2 4
.tran 10 = prod 3 4

. anova brief

10.

plot resi vs pred

Ex 3.2, Page 99

1.
2.
3.
4.

read ex\ex3.2
regré6on12345
anova brief

plot resi vs pred

»

[V538 V23 e 5% — v5=x,"]
[VOIE 5 V35 eh- 53 — v6=X,°]
[V738 % VA8 eh 52— v]=x5"]
[VB7 5 v27 3k v3H — v8=x; - X,]

[VO3E 2 V278 %k v43E — VvIO=xXx; * X3

[v1078 5 v378 3k v438 — vI0=x, * X3]

.regrlon2345678910

5.00F rittest 0 B ofTARY PIIE S

Ex 3.5, Page 112

1.
2.
3.
4,
5.
6.

read ex\ex3.5
tran 5 =prod 1 3
tran6=rati 2 3

regr4on256
anova brief

plot resi vs pred

[VOT8 & V278 ",f V33— vb=X,/X3]



Ex 3.6, Page 118
1. read ex\ex3.6
2.regrlon2345678910
3. anova brief [ % T SS;e] }
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4, oncway [T"l );}} IR SSpure error ]

Ex 3.8, Page 130
l.regr6on12345
. corr
.regrlon2345
.regr2onl345
regr3onl1245 |d RZ*FEVIF> RiEHE Sk
.regr4donl1235
.regrS5onl1234 _/
.regr6on2345
.regr2on345 )
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.regr3on245
fegr > on d R%*- 8 VIF» P15 gk
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.regr4don235

[S—
\O]

.regr5on234

Ex 3.9, Page 138
0.7 EXCEL & AHED 3 cv638 (4 % % #Z)

l.regrlon23456
Z

Ex 3.10, Page 142
0.74 EXCEL 2 AHED 3 *r v3 ~ v4(4 % % #)
I. regr 2 on 1 3 4

y X Zl Z2

Ex 3.11, Page 147
0.8 3m¥Y Ex3.10
1. tran 5 =prod 1 3 [VS5=x"-Z]
2.tran 6 =prod 1 4 [Vvb=x + Z,]
3.regr2on13456



Ex 4.1, Page 173

l.regrSon23
2. resi [¥ % 3R residual, Residual SS, PRESS]

3. yhat [¥" % & Pred Res = PRESS residual = ¢,_;]

4. keep preresas 6  [v6= ¢ _; ]

5.tran 7 = abs 6 [v7=le 1]

i,—i

6. stat 7 [%F V7 fadcik 5223t 5 p A2 B nxAve=2|e

7.regrSonl23

8. resi

9. yhat
10. keep preres as 8
11. tran 9 = abs 8
12. stat 9
13.regr5on1234
14. resi
15. yhat
16. keep preres as 10
17. tran 11 = abs 10
18. stat 11

Ex 4.5, Page 194

1. read ex\ex3.8
2.regrbonl2345
3. all
4

. Screen

1=l

| ]



Ex 4.6, Page 197
l.regrlon234567

. screen

.regrlon23457

. resi

. yhat

. keep preres as 8

.tran 8 = abs §

0 9 N W kWD

. stat 8

Ex 5.1, Page 213
l.regr2 on 1
. plot resi vs pred
. plot stud vs pred

. tran 4 = power 1 2

2

3

4
S.regr2onl4
6. plot stud vs pred
7. resi
8.regr2onl43
9

. plot stud vs pred

Ex 5.2, Page 218
l.regr8on1234567
2. resi

3. plot stud vs pred

Ex 5.3, Page 224
l.regr4donl23

2. resi



Ex 5.6, Page 234

l.
2.
3.

10.
11.

12.
13.
14.
15.

regrlon23
resi
regr 1 on 3
.keepresias4  [v47E % €y ]
.regr2 on3
keepresias 5 [V53E 5 € ]
.plot4vs 5 [ P8 3% p.236 figure 5.7]
.regr 1 on 2
.keepresias 6 [V63E 5 € ]
regr 3 on 2
keepresias 7 [V73E i €, ]
plot 6 vs 7 [ 41 PR 3k 4 p.236 figure 5.8]
tran 8 = power 2 0.3333
regr 1 on 8 3
resi

Ex 5.7, Page 238

1

\S]

. read ex\ex5.6

.regrlon23 [¥ 2 3b; = 3.8750877e-2, b, = 5.8941691e-2 |

. keep resi as 4 [v4=€,x ]

. tran 5 = line 2 3.8750877¢-2 [V5=v2 x 3.8750877E-2=b; * x|
.tran 6 =sum 4 5 [V6=v4+v5= €, +Dbx]

.plot 6 vs 2 [ PR 3 A p.239 figure 5.11]

.tran 7 = line 3 5.8941691e-2 [V7=v3 %X 5.8941691E-2 =D, - X, ]
.tran § =sum 4 7 [V6 =v4+vT7 = € +bsx,]

.plot 8 vs 3 [%t B 25~ p.239 figure 5.12]



Ex 5.8, Page 240

l.

read ex/ex5.6

2. tran 4 = power 2 2
3. tran 5 = power 3 2
4.regrlon234 [F % b, =9.0195602E-2, by; =-1.2462167E-6 ]
5. keep resi as 6 [v6 = ey|X,x12 ]
7. tran 7 = line 2 9.0195602¢-2 [V7=v2 - 9.0195602E-2 = x; - b{]
8. tran 8 =line 4 -1.2462167e-6 [v8=v4 - -1.2462167E-6 =x,> - by,]
9.tran 9 =sum 6 7
10. tran 10 = sum 9 8
11. plot 10 vs 2 [%4 B8 3% A~ p.241 figure 5.13]
12.regrlon235 [7 3% by =-2.0419242E-2, by, = 2.9860703E-6]
13. keep resi as 11 [vll = ey\x,xzz ]
14. tran 12 = line 3 -2.0419242E-02 [v12=v3 - -2.0419242E-2 =X, - b,]
15. tran 13 = line 5 2.9860703E-06  [v13 =v5 - 2.9860703E-6 = x,” * by,]
16. tran 14 =sum 11 12
17. tran 15 = sum 14 13
18. plot 15 vs 3 [ R Fk A p.241 figure 5.14 > Zeh B 3£ ! ]

Ex 6.1, Page 254

1.
.regr8on1234567
. resi [¥ % FDistance = Cook’s D = Dj |

~N N AW

read ex\ex5.2

. yhat
. delete 23
.regr8on 1234567

. resi



Ex 6.3, Page 266

l.

read ex\ex5.3

2.regrdonl23

3.

resi

Ex 6.4, Page 268

1.
2.regr6onl12345
3.
4.

read ex\ex3.2

resi

plot resi vs pred

Ex7.1, Page 281

l.

10.

5
6
7.
8
9

list

2.regr3onl?2
3.
4

plot stud vs pred

. yhat
. set weight 4

. yhat

regr3onl2

. plot stud vs pred

. resi

plot stud vs rank

Ex 7.3, Page 290
0.4 HExS.1indicyg 1 % 3p £

11.

resi

[Vaficdy = F L 5 4 2 4o ff 45 dew; |

[7 3 R.Case wt (be fEdp#ic) » AKX

[#-va el ik 5 4o 4 3]

(B2 T3 {8 Case Wtid e i ]

[¥ ¥ 3LDurbin-Watson (D-W ig.)]

# % 1.000]



Ex 7.4, Page 299

1. read ex\ex7.4

2.regr 1 on2

3. resi

4. keep preres as 3 [V35 € ]

5. tran 3 = abs 3 V35 e il

6. stat 3 [d n~Aveit & Z|e ]

7. tran 4 = power 2 -1 [v4=1/x]

8.tran5=1In1 [VS=Iny]
9. regr 5 on 4 [Iny # Ix iz jF]
10. resi
11. keep preres as 6 [v6= Iny,—Iny, ; ]
12. tran 7 =diff 5 6 [vI=v5-v6= Iny,—(In y—lﬂﬁ) = In Yioi 1
13. tran 8 =exp 7 [v8= exp(Iny; ;) = YA ]
14. tran 9 = diff 1 8 VO=vIv8= €& , = Y=Y, ]

15. tran 10 = power 9 2 [v10 = (ei,_i)z]
16. stat 10 [¢ n~ Ave:* ¥ PRESS]

17.90% 355 Z(e ;]

18. tran 11 =power 1 -1

15.regr11 on4 [y $ 1/x wa® Eﬁ?]
16.5% 2+ & PRESS % X|e |

i,—i

17. tran 12 = power 2 2
18. regr 1 on2 12

16.50% 3+ % PRESS % Xle_|



Ex 7.5, Page 309

1. read ex\ex7.4

2.regr 1 on2
3.tran3=1n2 [v3=In2=Inx]
—>-Ll
4.trand=prod23 [v4=V2 - v3=xInx]
S.regrlon24
6. tran 5 = power 2 0.022099  [v5 = w = x"92%]
7.regr 1 on5
8.tran6=1In5 [v6=In5=Inw]
L FF
9.tran7=prod56 [v7I=w - Inw] v

10.regr I on 57

llé f:rf!ﬁagj %“L_;E-'; adsz > Ay

Ex 7.7, Page 319
1. read ex\ex7.7
2. set weight 3

3.regr 1 on2
4. end

10



